
S4 Nat 5 Prelim Revision SI 

A1 Answers to the Non-Calculator Paper  
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2 Mark 1 evidence of any 3 correct terms 𝑥3 − 5𝑥2 + 3𝑥  𝑜𝑟 − 4𝑥2 + 20𝑥 − 12  
Mark 2 all 6 terms correct   𝑥3 − 5𝑥2 + 3𝑥 − 4𝑥2 + 20𝑥 − 12 

Mark 3 collect like terms         𝒙𝟑 − 𝟗𝒙𝟐 + 𝟐𝟑𝒙 − 𝟏𝟐  

 
 

3 Mark 1  substitute into the function     (−2)2 − 5 
Mark 2  answer       4 − 5 =  −𝟏 

 

4 Mark 1  correct bracket with square     (𝑥 − 5)2 

Mark 2 completed square      (𝒙 − 𝟓)𝟐 + 𝟕  
 

 

5 Mark 1  show scaling for the simultaneous equations     
  12𝑥 + 15𝑦 = 57    or        8𝑥 + 10𝑦 = 38    
  12𝑥 − 8𝑦 = −12              15𝑥 − 10𝑦 = −15 
 
Mark 2 follow a valid strategy to find values for 𝑦 and for 𝑥 
               23𝑦 = 69,       𝑦 =  3       
              𝑜𝑟  23𝑥 =  23,         𝑥 = 1,                    
 
Mark 3  Both values correct for this simultaneous equation     𝒙 =  𝟏, 𝒚 = 𝟑 

 

6 Mark 1  triangle EOB is an isosceles triangle   ∠𝐸𝐵𝑂 = 𝐵𝐸𝑂 = 42° 
Mark 2  angle OBC is 90°, the obtuse angle EBC is  ∠𝐸𝐵𝐶 = 90° + 42° = 132°  
Mark 3 use triangle EBC to find the shaded angle           ∠𝐸𝐶𝐵 = 180° − 42° − 132° = 𝟔°  
 
Other methods can be used to identify the shaded angle. Angles must either be marked on 
the diagram or clearly stated in the answer i.e. ∠OBC is 90° 

 

7 Mark 1  use laws of indices    𝑟−3 =
1

𝑟3 

Mark 2  answer           
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𝑟3
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8 Mark 1  correct substitution into formula for a cone       𝑉 =  
1

3
× 3.14 × 32 × 10    

Mark 2  answer      𝟗𝟒. 𝟐(𝒄𝒎𝟑) 

𝟏

𝟑
× 𝟗𝟎 × 𝟑. 𝟏𝟒   →   𝟑𝟎 × 𝟑. 𝟏𝟒   →    𝟑 × 𝟑𝟏. 𝟒 = 𝟗𝟒. 𝟐  

 

 
 

 

9 Mark 1   simplify  √20        √20 = √4√5 = 2√5 

Mark 2   simplify  √125        √125 = √25√5 = 5√5 

Mark 3  collect like terms      2√5 + 5√5 − √5 = 𝟔√𝟓 

 

9 Mark 1 &2  state correct coordinate          𝑨 (−𝟓, 𝟎)  
Mark 3 state correct coordinate     𝑩 (𝟎, 𝟐𝟓)   
Mark 4 state equation of axis of symmetry    𝒙 = −𝟓 
 
One mark can be given in part (i) for  𝐴 (0, −5) 𝑜𝑟 𝐴 (5,0) 

 


